
����� 4 
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������ 

 ���������	
��
�������������������
����
�� ���� �����
���������!����"�����
�#�	�������$���% &� ' &�( �
�)&���)��*��+�

& (��� -���"������-�	
 ��$�+
��������) �/

�������� ($0��+�

& $0��
� +
��� $0������ � $0��1��1�)  %&��/

���2 ���� 
($0��+�

& $0��
� +
��� $0������ � $0��1��1�) ( ������*�"�� �3*� ���++��������!�1��1� 
 ���4 "�+
&0   
��5��$�	
	�� 6&����	�
���5�(0 �3&���� � +
�����%&�����	-������	
��
������ !��3���������� +���+��������&��$�+$���* 7����   1)(0 �3&�*��+�

&    2) �/

��
������   3)�/

���2 ����  4)�#�	�������$���% &� ' &� 5)
���������=���5�*�����%��"�����
%&��#�	�������$���% &� ' &�   %&�  6) 6&���"$� +����	-�� 

	�
������������ 

 �&�*���� �*��!���������
���������?������*� ���  13 @ 19 �B    �� ����C&��� 16.85 �B 
(
*��+�����+������-�� = 1.59 )  ��?����1��%&����5�	��"*�G��� (�0 �&� 50)    �*��!5�*
+
����������$�+1�����=�������� ��0� (�0 �&� 56.30)    �1����+
0�� (�0 �&� 58.10)  ���7$0
�0 ���*� 4,000 +�" (�0 �&� 80.00)    ������ ���	"  4 
� (���7� (�0 �&� 52.50)   +	$����$�
 �3*$0����� (�0 �&� 54.10)   %&��*��!5�*+	$�%&����$�
+��������1������������� (�0 �&� 
76.00 %&� 81.90 ���&��$�+)  (��������"�� 4.1) 
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�
�
���� 4.1 

(0 �3&�*��+�

&( ��&�*���� �*�� (n = 160) 

(0 �3&�*��+�

& 
����� (�0 �&�) (0 �3&�*��+�

& 
����� (�0 �&�) 

� !    

"�   

    1��  80 (50.00)      
0�(�� 6 (3.80) 

    5�	�  80 (50.00)      ������� 5 (3.10) 



�� ($%)       ��+
0�� 93 (58.10) 

     �����5�*�� 13 @ 19 �B      �*����� 56 (35.00) 

    
*��C&���  16.85   

    
*��+�����+������-�� 1.59   

�'(���
�!)�*
  �
�+(�/�(-
�    

    ����������� ��0� 32 (20.00)    �0 ���*�5�� �"*���+     

    2,000 +�"  

49 (30.60) 

    ����������� ��&�� 35 (21.90)    2,001 - 4,000 +�" 79 (49.40) 

    ��=�������� ��0� 90 (56.30)    4,001 - 6,000 +�" 24 (15.00) 

    ��=�������� ��&�� 3 (1.90)    �����*� 6,000 +�"                                         8 (5.00) 

� -�
�.���"�(/�-
����    

     7�*���&�  10 (6.30)   

     1 
�  13 (8.10)   

     2 
�  28 (17.50)   

     3 
�  25 (15.60)   

     4 
� (���7� 84 (52.50)   
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�
�
���� 4.1   (��
) 

(0 �3&�*��+�

&( ��&�*���� �*�� (n = 160) 

(0 �3&�*��+�

& 
����� (�0 �&�) (0 �3&�*��+�

& 
����� (�0 �&�) 

�'(���
�!)�*
��(
 
 

�'(���
�!)�*
�
�(
 
 

   7�*7$0�����5�����  20 (13.20)     7�*7$0�����5�����  16 (10.70) 

   ���������� 124 (76.00)     ���������� 133 (81.90) 

   ��=�������� ��0� 10 (6.70)     ��=�������� ��0� 7 (4.70) 

   ��=�������� ��&�� / ��1 4 (2.70)     ��=�������� ��&�� / ��1 3 (2.00) 

    ����	��� / ��� 1 (.70)     ��	������ 1 (.70) 

   ��	������ 1 (.70)   

�0
�1
 ������(
�
�(
    

     �3*$0����� 90 (54.10)   

    5�*� 13 (9.60)   

    %����� �3* 40 (25.50)   

    5�0��    17 (10.80)   

 
$2����������	
���������
��
� 

 
�������"�� 4.2 6&�������� �/

�����������$0��( ��&�*���� �*�� �+�*�  
 �/

��������$0��+�

& : 
��
�%��"����?�7�7$0��5�*�� 33  ��� 132    �&�*���� �*��
��
�%���/

��������$0��+�

& �3*��5�*�� 33 ��� 95   O$���
�%���C&��� �3*
* �7�"������ 
(
*��C&��� = 56.63, 
*��+�����+������-�� = 15.31) 
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 �/

��������$0��
� +
��� : 
��
�%��"����?�7�7$0��5�*�� 19 ��� 76 �&�*���� �*����

�%���/

��������$0��
� +
��� �3*��5�*�� 19 ��� 65  O$���
�%���C&�����$�+����&��
(
*��C&��� = 43.48, 
*��+�����+������-�� = 8.05) 
 �/

��������$0������ �  : 
��
�%��"����?�7�7$0��5�*�� 12 ��� 48  �&�*���� �*����

�%���/

��������$0������ � �3*��5�*�� 12 ��� 39  O$���
�%���C&��� �3*!�
* �7�"������ 
(
*��C&��� = 22.63, 
*��+�����+������-�� = 7.66) 
 �/

��������$0��1��1� : 
��
�%��"����?�7�7$0��5�*�� 12 ��� 48  �&�*���� �*����

�%���/

��������$0��1��1���5�*�� 14 ��� 39  O$���
�%���C&��� �3*!���$�+����&�� 
(
*��C&��� = 28.05, 
*��+�����+������-�� = 5.9)  
 O$����� 
�%���C&����/

��������������$0��+�

& %&�$0������ � �3*!���$�+���� �*��

�%���C&����/

��������$0��
� +
��� %&�$0��1��1� �3*!���$�+����&�� %�$��*� �&�*�
��� �*�����/

��������$0��+�

& %&�$0������ �����  �*���/

��������$0�� ���G �3*!���$�+����&�� 

$2����$3
����	
���������
��
� 

 
�������"�� 4.2  6&���������/

���2 �������$0��( ��&�*���� �*�� �+�*� 
 �/

���2 ����$0��+�

& : 
��
�%��"����?�7�7$0��5�*�� 10 ��� 40    �&�*���� �*��
��
�%���/

���2 ����$0��+�

& �3*��5�*�� 16 ��� 36   O$���
�%���C&��� �3*!���$�+����&�� 
(
*��C&��� = 28.12, 
*��+�����+������-�� = 4.26) 
 �/

���2 ����$0��
� +
��� : 
��
�%��"����?�7�7$0��5�*�� 11 ��� 44  �&�*�
��� �*����
�%���/

���2 ����$0��
� +
��� �3*��5�*�� 11 ��� 44  O$���
�%���C&��� �3*!�
��$�+����&�� (
*��C&��� = 27.46, 
*��+�����+������-�� = 8.86) 
 �/

���2 ����$0������ � : 
��
�%��"����?�7�7$0��5�*�� 3 ��� 12  �&�*���� �*����

�%���/

���2 ����$0������ � �3*��5�*�� 3 ��� 12  O$���
�%���C&���
* �7�"������ (
*��C&��� = 
5.73,
*��+�����+������-�� = 2.32) 
 �/

���2 ����$0��1��1� : 
��
�%��"����?�7�7$0��5�*�� 6 ��� 24  �&�*���� �*����

�%���/

���2 ����$0��
� +
��� �3*��5�*�� 7  ��� 24  O$���
�%���C&���
* �7�"���3� 
(
*��C&��� = 18.66, 
*��+�����+������-�� = 4.89) 
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 O$����� 
��
�%���C&����/

���2 ����$0��+�

& %&�$0��
� +
��� �3*!���$�+
����&�� 
�%���C&����/

���2 ����$0������ � �3*!���$�+����  
�%���C&����/

���2 ����$0��
1��1� �3*!���$�+�3� %�$��*� �&�*���� �*�����/

���2 ����$0������ ����� �*���/

��$0�� ���G �3*!� 
��$�+����&�� @ �3� 
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�
�
���� 4.2 

*��C&��� 
*��+�����+�����-��( � �/

��������($0��+�

& $0��
� +
��� $0������ � %&�$0��1��1�)  �/

���2 ���� ($0��+�

& $0��
� +
��� $0������ � 

%&�$0��1��1�) %&��#�	�������$���% &� ' &� (n = 160) 

 

���5$����!)�*
 
�'5����� 
�$6�+$+(� 

�'5����� 
�$6����� M S.D. Kurtosis 

SE.	
�
Kurtosis Skewness 

SE 	
� 
Skewness 

Standardized 
Kurtosis 

Standardized 
Skewness 

� !(1��=1,5�	�= 0) 0 - 1 0 - 1         
�'(���
�!)�*
  1- 6 1 @ 5          
I
�'�
��!�*I��� 1- 4 1- 4         

$2����������                           
�%�� 1 @ 4          

    $0��+�

& (33 (0 ) 33 @ 132 33 @ 95 56.63 15.31 .16 .38 .8 .19 .42 4.15  

    $0��
� +
��� (19 (0 ) 19 @ 76 19 @ 65 43.48 8.05 .41 .38 -.04 .19 1.08  -.19 
    $0������ � (12 (0 ) 12 @ 48 12 @ 39 22.63 7.66 - .83  .38 .32 .19 - 2.18  1.69 
    $0��1��1� (12 (0 ) 12 @ 48 14 @ 39 28.05 5.9 -.95  .38 - .17 .19 - 2.5 .91  
$2����$3
����                       
�%�� 1 @ 4         
    $0��+�

& (10 (0 ) 10 @ 40 16 @ 36 28.12 4.26 - .17 .38 -.12 .19 .45 - .60  
    $0��
� +
��� (11 (0 ) 11 @ 44 11 @ 44 27.46 8.67 - .63  .38 -.12 .19 - 1.66  -.64 

    $0������ � (3 (0 ) 3 @ 12 3 @ 12 5.73 2.32 - .08  .38 .65 .19 - 2.1  3.41 
    $0��1��1� (6 (0 ) 6 @ 24 7 @ 24 18.66 4.89 - .66  .38 -.83 .19 - 1.73  - 4.30 

��
�0��(-��5
��
J
�K         
�%�� 0 @ 4         

   !�� + 30 ��� (3 (0 ) 0 @ 12 0 @ 10 3.56 3.36 - .97  .38 .52 .19 - 2.55    2.73  
   !�� + 3 �$� � (3 (0 ) 0 - 12 0 - 10 4.08 3.66 - 1.41  .38 - .25 .19 - 3.71  - 1.28 
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 L�������
�(-��5
��
J
�K	
���������
��
� 

 
�������"�� 4.3  ���"����	��$���% &� ' &�( ��&�*���� �*�� �+�*� ��	��$����+����, 7��� 
%&��5&0�����  ����C&��� 14.54,15.06 %&� 15.42 �B ���&��$�+ (
*��+�����+������-�� = 
1.86 ,1.76 %&� 1.54 ���&��$�+) O$� ����0 �"����$���� ��	��$����+����%&�7��� 
�  10 �B  %&� 11 �B 
���� ��	��$����5&0�   

�
�
���� 4.3 

����� %&��0 �&� %�$� ������� ��	��$���% &� ' &� (n = 160) 

 



����-�
�����(-��5
��
J
�K �����K +��K �/��
 


*��C&���    14.54 �B 15.06 �B 15.42 �B 
    
*��+�����+�����-��  1.86 1.76 1.54 

 
����� (�0 �&�) 
����� (�0 �&�) 
����� (�0 �&�) 
10 �B 4 (3.80) 3 (2.70) 0 (0.00) 
11 �B 3 (2.80) 2 (1.90) 1 (1.60) 
12 �B 5 (4.70) 2 (1.90) 2 (1.90 
13 �B 15 (14.20) 9 (8.40) 8 (7.50)  
14 �B 25 (23.60) 22 (20.60) 17 (16.10) 
15 �B 22 (20.80) 22 (20.60) 26 (25.00) 
16 �B 17 (16.00) 26 (24.30)  23 (22.10) 
17 �B 10 (9.40) 15 (14.00) 17 (16.20) 
18 �B  4 (3.80) 5 (4.70) 10 (9.60) 
19 �B 1 (.90) 1(.90) 0 (0.00) 
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 %&����� �	
��)����$���% &� ' &�%��������"���!�� + 30 ��� %&�!�� +  3 
�$� ��* �� +%++� +��� �+�*� �����*�1��%&�5�	�$���% &� ' &�1�	$!$1�	$5����7�*�*�
�
��?��+���� 7��� 5�� �5&0� �����)�0 �&� 80  O$������*�1��$���% &� ' &�!�
����������*�
�����*�5�	��&P��0 � ($3�����"�� 4.4) 

�
�
���� 4.4 


����� %&��0 �&�%�$����$���%&�7�*$���% &� ' &�
��%�������� (n = 160) 

(-��5
��
J
�K"��(.("��(/�)�� +��(-��5
��
J
�K��� : �O
��� (��
��') 

��� 5�	� ��� 5�	� 
138 (87.25) 131 (81.87) 22 (13.75) 29 (18.13) 

 
������!����$���% &� ' &�!�� + 30 ����* �� +%++� +���   6&�������� 
�+�*� �&�*���� �*���*��!5�* (�0 �&�60) $���% &� ' &������*�7�*$��� O$�$����+����,7��� %&�
�5&0� �0 �&� 66.2, 65.6 %&� 64.4 ���&��$�+ �*��!5�*$��� 1 @ 2  
����  (�����)�0 �&� 30 
��?����$����+����%&��5&0�  %&��0 �&� 50 ��?����$���7��� ��������"�� 4.5)    
 !�� + 3 �$� � �+�1*��$�������*� �&�*���� �*���*��!5�* (�0 �&� 60) $���
% &� ' &������*�7�*$��� O$�$����+����,7��� %&��5&0��0 �&� 66.2, 66.9 %&� 64.4 ���&��$�+  
���5��+���$����+����%&��5&0� �+�*� �*��!5�*$��������*� 10  
���� (�0 �&� 24.3 %&� 23.8 ) 
���5��+���$���7��� �+�*� �*��!5�*$��� 1- 2 
���� (�0 �&� 44.40  ��������"�� 4.5)  

�
�
���� 4.5 

����� %&��0 �&�%�$�
������( ����$���% &� ' &�����4"!$����4"5���� (n = 160) 


������ 
���$���% &�   &� 

30 ��� : 
����� (�0 �&�) 3 �$� � : 
����� (�0 �&�) 

�+���� 7��� �5&0� �+���� 7��� �5&0� 

$��� 106 (66.2) 105 (65.6) 103 (64.4) 106 (33.80) 107 (66.90) 103 (64.50) 

$��� 1 @ 2 
���� 46 (28.30) 82 (51.20) 56 (35.5) 32 (20.00) 71 (44.40) 36 (22.50) 

$��� 3 @ 5 
���� 20 (12.50) 23 (14.40) 12 (7.40) 22 (13.80) 36 (22.50) 18 (11.30) 

$��� 6 @ 10 
���� 10 (6.60)  10 (6.20) 13 (8.10)  11 (6.90) 

$��������*� 10 
���� 30 (18.80)  25 (15.30) 39 (24.30)  38(23.80) 
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��
���� ��QK�'/��
����5$��O
�
�5�' L�������
�(-��5
��
J
�K 

 
���������=���5�*�����%��"�����Q������� +$0�� 
�)&���)��*��+�

& (��� 
��$�+�������� -���"������-�	
) �/

�������� ($0��+�

& $0��
� +
��� $0������ � $0��
1��1�)   �/

���2 ���� ($0��+�

& $0��
� +
��� $0������ � $0��1��1�) %&��#�	�������$���
% &� ' &�!�� + 30  ��� %&�!�� + 3 �$� � 7$0��+����	�
���5�$0�����
����)
*��������	"=	R
�5������=�( ���������� (Perason  product moment  correlation) O$�"������3�$�$%�&�!50��?�
���%��5�*� (Dummy variables) �* �����	�
���5����� �
����?����%��"������$�+�����$%++���
+�����	 (Nominal scale) 
 6&����	�
���5��+�*� !�� + 30 ���   ���%��"�����"����
���������=���+�#�	����
���$���% &� ' &��3���$  
�   �/

��������$0������ � ( r = .496, p < .01) � �&���  
�  �/

��
������$0��+�

& (r = .430, p < .01)   �/

��������$0��1��1� (r = .274,  p < .01)   �/

���2 ����
$0��+�

&  (r = - .198,  p < .05 )    %&���� ( r = .190, p < .05)  ���&��$�+ (�����"�� 4.6) 

�
�
���� 4.6 

*��������	"=	R�5������=���5�*��
�)&���)��*��+�

& �/

�������� �/

���2 ���� %&� 


������( ����$���% &� ' &�!�� + 30 ��� ( ��&�*���� �*�� (n = 160) 
���%�� 1 2 3 4 5 6 7 8 9 10 11 12 

1.��� 1.00            

2.�������� -.273**      1.00           

3.����-�	
 .116 .165* 1.00          

$2����������              

4.$0��+�

& .241** .307** .003 1.00         

5.$0��
� +
���       -.003 -.140 .097 .448** 1.00        

6.$0������ �  .141 -.111 .070 .539** .372** 1.00       

7.$0��1��1� .004 .108 .176* .269** .229** .498** 1.00      

$2����$3
����              

8.$0��+�

& .-.108 -.088 .018 -.146* .018 -.202* -.337** 1.00     

9.$0��
� +
���       -.010 .173* .155* -.197** -.201* -.328** -.216** .193 1.00    

10.$0������ �  .134 -.086 -.102 -.026 -.267** -.219** -.364** .187** .344** 1.00   

11.$0��1��1� -.286** -.296 -.023 .052 -.107 .011 -.195 .097 .209** .431** 1.00  

12.$���% &� ' &� .190* -.107 .018 .430** .154 .496** .274** -.198* -.133 -.111 .063 1.00 

              ��� : 0 = 5�	�     1 = 1��           

             * p  < .05     ** p < .01                      
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 !�� + 3 �$� � ���%��"�����"����
���������=���+�#�	�������$���% &� ' &�
�3���$
�   �/

��������$0������ � ( r = .410,  p < .01)  � �&���  
�  �/

��������$0��+�

& 
(r = .367, p < .01)  �/

��������$0��1��1�  (r = .260, p < .01)   %&��/

���2 ����$0��+�

&  
(r = - .170, p < .05 ) ���&��$�+ (�����"�� 4.7) 

�
�
���� 4.7 


*��������	"=	R�5������=���5�*��
�)&���)��*��+�

& �/

�������� �/

���2 ���� %&� 

������( ����$���% &� ' &�!�� + 3 �$� � ( ��&�*���� �*�� (n = 160) 

 
���5$� 1 2 3 4 5 6 7 8 9 10 11 12 

1.��� 1.00            

2.�������� -.213**      1.00           

3.����-�	
 .116 .165* 1.00          

�/

��������              

4.$0��+�

& .241** -.307** -.003 1.00         

5.$0��
� +
���       -.003 -.140 .097 .448** 1.00        

6.$0������ �  .141 -.111 .090 .539** .372** 1.00       

7.$0��1��1� .004 .108 .116* .269** .229** .498** 1.00      

�/

���2 ����              

8.$0��+�

& .-.108 -.008 .018 -.146* .018 -.202* -.337** 1.00     

9.$0��
� +
���       -.010 .173* .165* -.197** -.201* -.328** -.216** .193 1.00    

10.$0������ �  .134 -.086 -.102 -.025 -.267** -.219** -.368** .187** .344 ** 1.00   

11.$0��1��1� -.296** -.142 -.023 .052 -.107 .011 -.195 .097 .209** .431** 1.00  

12.$���% &� ' &� .146 -.096 .029 .367** .128 .410** .260** -.170* -.148 -.142 .025 1.00 

  ��� : 0 = 5�	�     1 = 1��         

                   * p  < .05     ** p < .01                   

���
��(�
������I
� 

 �* �����	�
���5����� � +
�����%&�����	-������	
�� 630�	
��7$0���(0 �3&"���5�$
��"$� +�*�7�*&���	$(0 ��&��+�� ��0�( ����!10��	�	�	�
���5��$� ��5� (Regression) 
�  
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 1.���%
�%
�( ����%��"�������?�O
0����	5�� !�&0�
���   O$��	
��)�
��
*� 
Standardized Kurtosis %&� Standardized Skewness ��������"�� 4.2 %&�
�� 
Histogram ,Box  Plot   !�4�
6��� Q 5�0� 138  - 140 
 2.���%���0� [����0� ���"������$�+�����$%++���+�����	 (Norminal scale) 7$0�3�
$�$%�&���?����%��5�*� 
�  ���1�� ��?� 1  ���5�	� ��?� 0] %&����%�������?����%��"����
*�
�* ���� � O$�
���������=�( ����%�� 2 ���%����&���)�
���������=�%++��0���� ($3�����
�������	"=	R�5������=���5�*�����%��"�����%&����%�����!������"�� 4.6 %&� 4.7) 
 3.Residual homocedasticity O$��	
��)�
�� Histogram ( � Regression 
Standardizerd Residual "����&���)�O
0����	 %&� Scatterplot ( � Regression 
Standardizerd Residual ��+�#�	�������$���% &� ' &�"����?���0���� ���"��� Normal P @ P 
Plot of Regression  Sandardizerd Residual "��"������#�	�������$���% &� ' &�"����&���)�
��?���0����  (4�
6��� 1 5�0� 148 @ 153 ) 
 %�0�*����%���0�5�� ���%��"�����5&�����7�*�+�*���
���������=���+���%����� 
(�#�	�������$���% &� ' &�) �*����������
��"����	�	 ����	�
���5����� � +
�����%&�
����	-������	
��
����������
�������%��"�����"���5�$�(0�������	�
���5��$� ��5����� "�����
�#�	�������$���% &� ' &� ���� �
�����"$� +����	-����?�7����"#�v�
��������P
!�
������+���( �+�

&!�4��������� (The Resilience Model) "�� =	+��
���������=�( ����%��
"������5&*������+���%����� O$�630�	
��7$0������%��"������(0��������?��&�*����&��$�+$����� 
&��$�+"�� 1 
�   
�)&���)��*��+�

& 7$0%�*  ���   ��$�+��������  -���"������-�	
     
&��$�+"��  2  
�  �/

��������$0��+�

& $0��
� +
��� $0������ � $0��1��1�  %&�&��$�+"��  3  
�  
�/

���2 ����$0��+�

& $0��
� +
��� $0������ � $0��1��1� 

 ����	-�� : 1. 
�)&���)��*��+�

& (��� -���"������-�	
 ��$�+��������) 
�/

�������� ($0���*��+�

& $0��
� +
��� $0������ � $0��1��1�) �/

���2 ���� ($0���*��+�

& 
$0��
� +
��� $0������ � $0��1��1�) �������*�����"������#�	�������$����
��� �$���"����
% &� ' &�( ������*�"�� �3*� ���++��������!�1��1�  ���4 "�+
&0  
��5��$�	
	��7$0   
 
�������"�� 4.8  %&� 4.9   ���� ������%��"�����"���5�$�(0�������	�
���5�5�
*�
�������	"=	R�5������=��$� ��5����� "������#�	�������$���% &� ' &�!�� + 30 ��� %&�
� + 3 �$� � 6&���������+�*� ���%��"�����"���5�$�������*�����"������#�	�������$���
% &� ' &�( ������*�� ���++��������!�1��1�  ���4 "�+
&0  
��5��$�	
	�� !�� + 30 ���   
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7$0�0 �&� 31  [F (11,148) = 6.074, p < .001) ]   %&�� +  3  �$� �   7$0�0 �&� 22 [F (11,148) 
= 3.876, p  < .001) ]  
 ���� : ����	-��"�� 1 7$0��+������+���� 

�
�
���� 4.8 

�/

��"������#�	�������$���% &� ' &�!�� + 30  ��� ( ��&�*���� �*�� (n = 160) 
 

  �O
(��            5/���	
����5$�  
�	�
���
�                    b SEb ββββ t R2 

R2 
change 

       1               
�)&���)��*��+�

&                   .041 .042 ns 
                             ��� .456 .510 .068 .894 ns   
                             ��$�+�������� .026 .306 .007 .085 ns   
                             -�������-�	
 -.022 .300 -.005 -.075 ns   
      2                 �/

��������                                   .301 .259 *** 
                             $0��+�

& .056 .020 .257 2.806***    
                             $0��
� +
��� -.043 .034 -.103 -1.259ns   
                             $0������ � .161 .041 .360 3.895***   
                             $0��1��1� .007 .050 .012 .134ns   
       3                �/

���2 ����                                .311 .010 ns 
                             $0��+�

& -.057 .069 -.072 -.958ns   
                             $0��
� +
��� .020 .031 .051 .646ns   
                             $0������ � -.111 .117 -.080 -.942ns   
                             $0��1��1� .037 .064 .046 .584ns   

                                                                                             Constant  = -.859 
                                                                                   R2

adj  = .260 
                                                                                              F (11,148) = 6.074 (p < .001) 

 ***  p  < .001 , 
 ns  =  not significant 
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�
�
���� 4.9 

�/

��"������#�	�������$���% &� ' &�!�� + 3  �$� � ( ��&�*���� �*�� (n = 160) 

 
  �O
(��                  5/���	
����5$�  
�	�
���
�                      b SEb ββββ t R2 

R2 
change 

        1                   
�)&���)��*��+�

&                      .026 .028 ns 
                                    ��� .338 .558 .046 .575ns   
                                    ��$�+�������� -.053 .361 -.012 -.146ns   
                                    -�������-�	
 -.048 .346 .011  .138ns   
        2                   �/

��������                                     .213 .185 *** 
                                    $0��+�

& .057 .023 .240 2.459***   
                                    $0��
� +
��� -.050 .040 -.111 -1.174ns   
                                    $0������ � .125 .048 .261 2.613***   
                                    $0��1��1� .028 .058 .045 .479ns   
          3                 �/

���2 ����                                   .224 .011 ns 
                                     $0��+�

& -.039 .068 -.046 -.579ns   
                                    $0��
� +
��� .005 .036 .011 .135ns   
                                    $0������ � -.167 .138 -.111 -1.223ns   
                                    $0��1��1� .037 .076 .044 .485ns   

                                                                                               Constant = .600 
                                                                                     R2

adj = .166 
                                                                                             F (11,148) = 3.876 (p  < .001) 

 ***  p  < .001 ,       
                   ns  =  not significant 
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 ����	-�� :2. 
�)&���)��*��+�

& (��� ��$�+�������� -���"������-�	
) ��

���������=���+�#�	�������$����
��� �$���"����% &� ' &�( ������*�"�� �3*� ���++��������!�
1��1�    ���4 "�+
&0   
��5��$�	
	��  
 
�������"�� 4.8  %&� 4.9  6&���������+�*� ��� ��$�+�������� %&�-���"��
����-�	
 ��
���������=���+�#�	�������$���% &� ' &�( ������*�� ���++��������!�1��1� 

 ���4 "�+
&0  
��5��$�	
	�� "���!�� + 30 ���  (β =.068, .007 %&� -.005 ���&��$�+) %&�!�

� + 3 �$� � (β = .046, -.012 %&� .011 ���&��$�+)   �*��7�*��������
��"����	�	 (p > .05) 
����
�  �&�*���� �*��"�������  ��$�+��������  -���"������-�	
%���*��������#�	�������$���
% &� ' &�7�*%���*�����           
  ���� : ����	-��"�� 2 7�*7$0��+������+���� 

 ����	-�� : 3. �/

�������� ($0��+�

& $0��
� +
��� $0������ � $0��1��1�) ��

���������=�"��+����+�#�	�������$���% &� ' &�( ������*�"�� �3*� ���++��������!�
1��1�  ���4 "�+
&0  
��5��$�	
	��  
 
�������"�� 4.8 %&�  4.9  6&���������+�*� �/

��������$0��+�

& %&�$0��
���� � ��?��/

������������� 2 �/

��"����
���������=�"��+����+�#�	�������$���% &� ' &�

( ������*�� ���++��������!�1��1�  ���4 "�+
&0  
��5��$�	
	�� "���!�� + 30 ��� (β = .257 

%&� .360 ���&��$�+) %&�!�� + 3 �$� � (β = .240  %&� .261 ���&��$�+)     �*����������
��

"����	�	 (p < .001)����
�  �&�*���� �*��"�����/

��������$0��+�

& %&�$0������ ��3���%��O�0�"��

����#�	�������$���% &� ' &�"���!�� + 30 ��� %&�!�� + 3 �$� � �* �� +%++� +����3�
$0�� 
 �*���/

��������$0�� ���G 
�  $0��
� +
��� $0��1��1� �+�*� ��
���������=���+
�#�	�������$���% &� ' &�( ������*�� ���++��������!�1��1�  ���4 "�+
&0  
��5��$�	
	��

!�� + 30 ��� (β = -.103  %&� .012 ���&��$�+)   %&�!�� + 3  �$� �  ( β = -.111 %&�  .045  

���&��$�+)   �*��7�*��������
��"����	�	 (p > .05) ����
�  �&�*���� �*��"�����/

��������$0��

� +
��� %&�$0��1��1�%���*����� $���% &� ' &�"���!�� +  3 �$� � %&�!�� + 30 ��� 7�*
%���*����� 
 ���� : ����	-��"�� 3 7$0��+������+���������+���*�� 
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 ����	-�� : 4. �/

���2 ���� ($0���*��+�

& $0��
� +
��� $0������ � $0��1��1�) 
��
���������=�"��&+��+�#�	�������$����
��� �$���"����% &� ' &�( ������*�"�� �3*� ���++
��������!�1��1�  ���4 "�+
&0  
��5��$�	
	��   
 
�������"�� 4.8  %&� 4.9  6&���������+�*� �/

���2 ����$0��+�

& $0��

� +
��� $0������ � $0��1��1� ��
���������=���+�#�	�������$���% &� ' &�( ������*�� �

��++��������!�1��1�  ���4 "�+
&0  
��5��$�	
	�� "���!�� + 30 ��� (β =  -.072, .051, -.080  

%&�.046  ���&��$�+)   %&�!�� +  3   �$� �  (β =  -.046, .011, -.111   %&� .044  ���&��$�+)  

 �*��7�*��������
��"����	�	 (p > .05) ����
�  �&�*���� �*��"�����/

���2 ����$0��+�

& $0��

� +
��� $0������ � %&�$0��1��1�%���*�����$���% &� ' &� !�� + 30 ��� %&� !�� + 3 
�$� � �* �� +%++� +���7�*%���*����� 
 ���� : ����	-��"�� 4 7�*7$0��+������+���� 

 O$����� ����	-��"�� 1 7$0��+������+����"���5�$ ,����	-��"�� 3 7$0��+���
���+���������+���*��, ����	-��"�� 2 %&� 4 7�*7$0��+������+���� 
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�
�
1�$�
��� 

 ��������
�������������������
����
�� ���� ����� ����
���"������#�	�������$���
% &� ' &�( �
�)&���)��*��+�

& (��� ��$�+�������� -���"������-�	
)  �/

�������� 
($0��+�

& $0��
� +
��� $0������ � $0��1��1�) %&��/

���2 ���� ($0��+�

& $0��
� +
��� 
$0������ �   $0��1��1�) ( ������*�� ���++��������!�1��1� ���4 "�+
&0   
��5��$�	
	��   

�����  160  ��� 6&�������������� 4	����7$0$����� 

 L�������
�(-��5
��
J
�K	
���������
��
� 

 6&��������"���+�*�  !�� +  30  ���  %&�� +  3  �$� �  �* �� +%++� +��� 
�&�*���� �*���*��!5�* (�0 �&� 80) $���% &� ' &�  ()�"���*��!5�*(�0 �&� 80.00)  �����7$0
�0 ���*� 4,000 +�" 1��!50�5P��*��&�*���� �*���*��!5�*-���"������-�	
7�*$�  !�
���������*��
5����$���% &� ' &�$0��  6&������������ $
&0 ���+��������( ������(4��
	� (2548) "��
����������*�"���7� ��� 13 -19  �B  "�������"�%&0��+�*�   �����*�"��$���% &� ' &��*��!5�*�����7$0 
����7�*� !10
*�� 
 � �
�����6&��������"���+�*� �&�*���� �*����	��$���% &� ' &�����  ����0 �"����$ 

�  10 �B  � $
&0 ���+��������"��6*����"���+�*� �����*�7"���	��$���% &� ' &�����%�*��������5�� 
����  �3*1������������� �1*���������( ������(4��
	� (2548) "���+�*������*���	��$���% &� ' &�
����  ���������$ 9 �B %&���������( ��	��� ����	�	�����"� (Takviriyanun, 2006) "�������
�������������*�!������"��5��
�Q��������!�&0�
��������+�&�*���� �*��!������������%&0��+�*� 
�������������*�!������"��5��
�"���� ����0 �"����$���� ��	��$���% &� ' &� 
�  6 �B ���5��+���$���
�+���� 7  �B ���5��+���$���7���   %&� 8  �B ���5��+���$����5&0�  
 ���"�������*��&�*���� �*�������*�
����$���% &� ' &� ()�"�������7$0���� %&���	��$��� 
% &� ' &�����%�*�* ������*�5�� ����  �3*1������������� Q���
�"��!50�������* �����?����$������
��
!� ��
� 1��!50�5P��*����$���% &� ' &�( ������*�"��7�*7$0�����5�����  !�1��1� ���4 "�+
&0  

��5��$�	
	�� ��?��/�5����
������ �5����"���0 �7$0��+���%�07( %&����� �2 ����������#�	�������
$���% &� ' &���?����
��!� ��
� ��-
�������
�$�� ��#�	�������$���% &� ' &�( ������*�
����%�*1������������� 
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$2�����O
�
� L�������
�(-��5
��
J
�K	
���������
��
�  

 %�0�*����%��"�����"���5�$!������������
��3�
�$�&� ���
��"#�v�%&���
����	
��"��6*����� ���+ %�*6&������������&�+�+�*� ���%��"�����"���5�$  Q������� +$0��

�)&���)��*��+�

& (��� ��$�+�������� -���"������-�	
)  �/

�������� ($0��+�

& $0��

� +
��� $0������ � $0��1��1�) �/

���2 ���� ($0��+�

& $0��
� +
��� $0������ � $0��1��1�)  
�������*�����"������#�	�������$���% &� ' &�!�� + 30 ��� 7$0�0 �&� 31 %&�!�� + 3 
�$� �7$0�0 �&� 22  Q��� =	+��7$0
* �(0���0 �6	$
��
���
�$5���   � �
���������+�*����
%��"������*��!5�*O$��C����/

���2 ����7�*������"������#�	�������$���% &� ' &�7$0
�&� Q���6&�����������
* �(0��%���*��
����������"��6*���� �1*� ��������( � �����)� 
%�� �"	��� (2550); �	��� ����	�	�����"� (Takviriyanun, 2006) %&�
��	��� %&����� �� 
(Jamison, & Myers, 2008) "�����+�����*� 
�)&���)��*��+�

& �/

�������� �/

���2 ���� 
�������*�����"������#�	�������$���% &� ' &�7$0 %&�%���*��
��"#�v� The Resilience 
Model (Fraser, Kirby, & Smokowski, 2004; Kumpfer, 1999) "�� =	+���*� 
��������P
!����
���+���( �+�

&!�4�����������	$
���/

�������� �/

���2 ���� %&�+�	+" "������ �
���� ���
�� 
���%��"�����"�����
��  
�   �/

��������$0��
� +
���%&�$0��1��1�  ���"����/

���2 ���� "��� 4 
$0�� 7�*������"������#�	�������$���% &� ' &�7$0 Q���630�	
��
� 4	����!�&��$�+�* 7� 

 $2����������  

 ���� �	�
���5��$� ��5����� "������#�	�������$���% &� ' &� 6&��������
�+�*� �/

��������$0��+�

&%&�$0������ � ������"������#�	�������$���% &� ' &�( �
�����*�� ���++��������!�1��1�  ���4 "�+
&0  
��5��$�	
	��7$0 "���!�� + 30 ��� %&�!�� + 
3 �$� � O$��/

��������$0������ �������"������#�	�������$���% &� ' &�7$0�3���$ �*����

������
��"����	�	 (β = .360, p < .001 !�� + 30 ��� %&� β = .261, p < .001 !�� + 3 

�$� �)  � �&��� 
�   �/

��������$0��+�

&  ( β =  .257,  p <  .001  !�� +  30 ���  %&�  β 

= .240,  p < .001 !�� + 3 �$� � ) Q���5���
����*� �&�*���� �*��"�����/

��������$0������ � %&�
$0��+�

&�3���%��O�0�"��
����#�	�������$���% &� ' &�"���!�� + 30 ��� %&�!�� + 3 �$� � 
�* �� +%++� +����3�$0��  
 ���� �
���/

��������$0������ �!���������
������� ���� +$0���/

���* � 5 $0��      

�  1) ���
+���� �"��$���% &� ' &� ����������	$ %&����#�	�����* �0�����
�  2) ���7$0��+
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%�����	�
������ ����� ���#�	�����* �0�����
�%&�����������	$  3) ���$���% &� ' &�( �
���� ���	"  4) ���
+���� �"����"���
�	"��+���* ���$���% &� ' &�  %&� 5) �����+% &� ' &�
"������ �����%&�Q�� !50$���  6&�����������
��� $
&0 ���+��������"��6*���� �1*� ��������( � �3 
%&�����%�� (Yu, & Stiffman, 2007) "���+�*� �����*�"��
+���� �"��$���% &� ' &� ����������	$ 
"��6	$�v5��� %&�
0�������	$ ��%��O�0�"��
�$���% &� ' &��3���*������*�"��
+���� �7�*$���
% &� ' &� 7�*����������	$ %&�7�*"��6	$�v5���  5�� ��������( � ���� �	"=	��
��� 
(2549)  "���+�*�  �����*�"��$���% &� ' &�%&0����� �� ���+�(0��&�*���%��O�0�"��
�$���% &� ' &�
�3���*������*�"��7�*$���% &� ' &�  5�� ��������( � �'&%&�$�O
, ����"�, � ��
 +,  	�
	+	���� 
%&���&&	� (Hellandsjo, Watten, Foxcroft, Ingebringtsen, & Relling, 2002) "���+�*� �����*�"����
���� �$���% &� ' &�+* ���%��O�0�"��
�$���% &� ' &��3���*������*�"�������� �7�*$���% &� ' &�  
 � �
�����6&��������"���+�*� �����*��&�*���� �*�������)�0 �&� 50 (52.50) ��
���� ���	"�����*� 4 
� (���7� %&������*��&�*���� �*�������*� �0 �&� 80 $���% &� ' &� O$�
�����*�
�$���!�5�3*���� � ���"���/

��������$0������ �������"������#�	�������$���% &� ' &�
7$0�3���$ ��"0 �!50�5P��*� ���� ���	"�� 	"=	�&�* ���$���% &� ' &�( ������*��&�*���� �*�� 
$���������1*���5&� �����*�
�����$���% &� ' &� 
��
���	
��)��/

���������*��G $0������ � 
�*����+���������� ���	"( ������*��(0��*��O
�����1*���5&� $0�� 
 �*���/

��������"��"������#�	�������$���% &� ' &�7$0� �&��� 
�  �/

��������
$0��+�

&Q������� +$0���/

���* � 5 $0�� 
�  1) �����+�
&	��* �0�����
�, ���#�	�����0��
���
�����%�* ����0 �, ��"���
�	"��+���* �#�	�����* �0�����
�  2) �����+�30
���������
��
 ������( ��������������	$����     3) �����	��$���% &� ' &�%&��������	$����%�* ����0 �   
4) �����"���
�	"��+���* ���$���% &� ' &� %&� 5) �����
����30���������0� "0�"��  ����30
 ���& �  6&������������ $
&0 ���+��������"��6*����  �1*�   ��������( �    1������=�   
�"�����"�, 17���   "�	1���    %&�������
� ������ (2542) "���+�*� �����*�"�����#�	�����* �0��
���
�����%�* ����0 � 
��	$�������	$�3���*������*�"�����#�	�����* �0�����
�����  ������ 5�� 
��������( � ����1 ����	=��� (2550) "���+�*� �����*�"����+�30
�����������������+�����	$ �+��	�5��
()��������������%��O�0�"��
�$���% &� ' &��3���*������*�"����+�30
�����������������+�����	$ 
 �+��	�5��()���������3�  %&���������( � O$O�%�� %&�O�&	�� (Donavan, & Monina, 2008) 
"���+�*� �����*�"���5P�$0����+���$���% &� ' &���%��O�0�"��
�$���% &� ' &��3���*������*�"��7�*�5P�
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$0����+���$���% &� ' &� $������!����$3%&!50
���1*���5&� �����*�
��$���% &� ' &�
��
��
�	
��)��/

���������* �$0���*��G !�$0��+�

&�*��$0�� 
 ���"���/

��������$0������ � %&�$0��+�

& ������"������#�	�������$���
% &� ' &�7$0���� � $
&0 ���+"#�v���������( ������*� (Santrock, 2001) "���*�  �����*���?����
"����	��5�� �&���)�( ���� � %&����& �"���#�	����������G���� 
0�5�� �&���)�( ��� ���"���
���+�����*����� ���
������
���* �����*����"����$ %&��#�	�������$���% &� ' &�( ������*�
7�*7$0��	$
���/

��������������/

���$��� 
�  ��������*�� � %�*�����	$7$0
���/

���������	��%�$&0 �
"�� �3*!�&0��������*�O$��C����&�*����� �  � �
��������"���/

��������"���$0������ �%&�$0��+�

&
���� +$0���/

���* ��*��G $��7$0�&*����%&0�(0���0� ���+�����*� ���
�$�� ������*�"����
���
�������* ���$���% &� ' &�
��"��!50
� +
&���/

���* �$0���*��G$0�� 
 �*���/

��������$0��
� +
��� %&�$0��1��1� !������������7�*�+�*���


���������=���+�#�	�������$���% &� ' &�!�� + 30 ��� (β = -.103  %&� .012 ���&��$�+)   

%&�!�� + 3  �$� �  ( β = -.111 %&�  .045  ���&��$�+)   �*����������
��"����	�	 (p > .05) 
����
�   �&�*���� �*��"�����/

��������$0��
� +
��� %&�$0��1��1�%���*����� ��%��O�0�"��
�$���
% &� ' &�"���!�� + 30 ��� %&�!�� + 3 �$� � �* �� +%++� +���7�*%���*�����   
 ���"���/

��������$0��
� +
��� %&�$0��1��1�7�*������"������#�	�������$���
% &� ' &� Q���6&��������7�*��?�7����"#�v�%&�6&����	
��"��6*����  �
 =	+��7$0�*� 

�%��
������ +%++� +���5&��(0 !�$0�����7�*� $
&0 ����   �1*�   �+�*�
�%��������	
���$���% &� ' &�( ����1	�!�
� +
�����
*��3� %�*�&�*���� �*���&�+�������*������$���
% &� ' &�( ����1	�!�
� +
�������  5�� 
�%��!�����(0����%5&*� Q��  - (�� �
��� �$���
% &� ' &���
*��3�Q���%�&�*�Q�� 5�% &� ' &�7$0�*�� ()�"���&�*���� �*���������*� 
�!�1��1�
� ��*����$���% &� ' &�( ������*���?����� �6	$ 5��  �����5����
� 1��1�7�*���+����!50�����*�$���
% &� ' &� ���Q�� 5�% &� ' &�
��7�*
��"��7$0�*�� ($34�
6��� 1 5�0� 128 - 129) ���� +
%++� +���!�&���)�"��(0 �3&7�*� $
&0 ������� �
��?�7�7$0�*��&�*���� �*��� +(0 �3&7�*���
��+
�����?�
�	� ���� �
���&�*���� �*��7�*
�0��
���+630�	
�� 5��  �
���� ���
�����"��
%++� +�����(0 
�������?�
�������� 
�  "���1�$�� 120 (0   �
"��!50�&�*���� �*���30����+�� 
5�*��!����� +
�����(0 5&��G 
��� + �*��7�*����$����� "��!50
��� +7�*� $
&0 ���� Q���
��
����������Q���  O$����+�	=������P+��+���(0 �3& $��
���� �* 7�   
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 $2����$3
���� 

 6&�������� �+�*� �/

���2 ����$0��+�

& $0��
� +
��� $0������ � %&�$0��

1��1� 7�*��
���������=���+�#�	�������$���% &� ' &�!�� + 30 ��� (β =  -.072, .051, -.080  

%&� .046  ���&��$�+)   %&�!�� +  3  �$� �  ( β =  -.046, .011, -.111  %&� .044  ���&��$�+)  

 �*����������
��"����	�	  (p > .05) ����
�  7�*�*��&�*���� �*��
����/

���2 ����$0��+�

& 
$0��
� +
��� $0������ � %&�$0��1��1�%���*�����5�� 7�*  �&�*���� �*���P��%��O�0�"��
�$���
% &� ' &�"���!�� + 30 ��� %&�!�� + 3 �$� ��* �� +%++� +���7�*%���*�����  ���"��
�/

���2 ����"������$0�� 7�*������"������#�	�������$���% &� ' &�( ������*�� ���++
��������!�1��1�  ���4 "�+
&0  
��5��$�	
	��7$0  Q���7�*��?�7����"#�v�%&�7�*� $
&0 ���+
6&����	
��"��6*����  �
 =	+��7$0�*� ��	$
�����"��
�%��( ��/

���2 �������(0 !�%�*&�$0��
��&���)�7�*��?�� ����=�5�� 7�*� $
&0 ���� ($34�
6��� 1 5�0�130 - 131) Q��� �
��	$
��
���5�� 3 ������
�     1) �&�*���� �*��� +
�����7�*�����+
�����?�
�	�  O$�������� +!�
&���)�"�������4��&���)�( ���� � 2) (0 
�����"��!10!��������������
����������� 120 (0  
O$�"��%++� +�����������+�/

���2 ���� �3*�*��"0����$   �
"��!50�&�*���� �*���+�� 5�*��!����
� +%&�� +O$�7�*7$0 *�� �*��$��   5��  3) %++� +����/

���2 ����$0��+�

&��(0 
�����
+��(0 "���(0�!

* �(0����� ���"�����
��� ++��(0 "����&���)���?�&+5�� ��"	�"��������(0��
��+(0  ���G Q��� �
"��!50�&�*���� �*����+��7$0 $������
��
������������Q���!��&�*����� �*���$	� 
O$����+�
��� ���  %&��	=������P+��+���(0 �3&!5�*  $��
���� �* 7�   

 ��\���*\'���������  

 %�0�*�����	
��"��6*����( � �	��� ����	�	�����"� (Takviriyanun, 2006)   ( � 
�����)� %�� �"	��� (2550)   5�� ( � % ��	�, Q3 %&�%+��� (Epstein, Zhou, & Bang, 2007) 
�+�*� ���1����%��O�0�"��
�$���% &� ' &��3���*����5�	�    %�*6&������������+�*�     ���   

(β =.068, p > .05 !�� + 30 ���; β = 046, p > .05 !�� + 3 �$� �)  7�*������"�����
�#�	�������$���% &� ' &�( ������*�� ���++��������7$0 ����
�  �����*����1��%&����5�	�
$���% &� ' &�7�*%���*����� 5�� �&*�� �����5�����*� �����*����5�	�$���% &� ' &�!�
�����"��
���(�����*�!� $�� "������+�*�630"��$���% &� ' &���?������*�1����?��*��!5�*   Q���(0 
0��+( �
�3����	
���/�5����� (2547) ���+�����1*��$�������*� ��� �
7�*������=���+���$���% &� ' &�
( ������*�7"��/

�+�� O$��+�*� �����*�5�	�$���% &� ' &���	��(��� 6 �"*���� !�1*����&� 7 �B  
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��5�*���B ��. 2539 @ 2546   6&��������"��1��!50�5P��*������*�1��5�� 5�	����#�	�������$���
% &� ' &�7�*%���*�������� ��"0 �!50�5P��*����$���% &� ' &���	����?��/�5���+�����*����5�	�

�	� O$��C��������*��&�*���� �*��"�� �3*� ���++��������!�1��1� ���4 "�+
&0  
��5��$�	
	��   

 � �
���������+�*� ��$�+��������  (β = .007, p > .05 !�� + 30 ���; β =  

-.012,  p > .05 !�� + 3 �$� �) %&�-���"������-�	
  (β = - .005, p > .05 !�� + 30 ���; 

β = .011, p > .05 !�� + 3 �$� �) 7�*������"������#�	�������$���% &� ' &�( ������*�
� ���++��������7$0�1*���� ����
�  �����*�"������$�+��������%&�-���"������-�	
%���*��
��� ��%��O�0�"��
�$���% &� ' &�7�*%���*�����   Q���%���*��
����������"��6*����  �1*�  ( �

��	��� %&����   (Jamison, & Myers, 2008) 5�� ( � ��*��	"�� �������� � %&�
)� (2543)   
"���+�*� �����*�"������$�+������������   ��%��O�0�
�$���% &� ' &��3�    %&����%���*��
����� 
�����( � ��&"	��� �	
	�����"� (2542)  ( ����)� " �
��,  �	��)� �������	� %&����	�� 
��1��0 � (2549)  ���"���( � 
���$�� & %&�� �$& (Cardenal, &  Adell, 2000) "���+�*������*�"��
��-���"������-�	
$���%��O�0�$���% &� ' &��3�  
 ���"��-���"������-�	
7�*������"������#�	�������$���% &� ' &� 5�� 7�*�*�
�&�*���� �*��
���-���"������-�	
 �*��7��P$���% &� ' &��1*���� Q��� �
 =	+��7$0O$�
����+���)�( �630�	
��!�-������+�&"��"������*����+
�!�1��1�
��5��$�	
	���*� % &� ' &�
Q���Q�� 5�7$0�*�� ��?��*��5����( ��	
����"�����
�( ������*�!�1��1� ���4 "�+
&0  O$������*�"��
��-���"������-�	
7�*$�!10% &� ' &�!����������
���+���� ����� !50������������
�7$0���O$�
7�*�0 ��&�++0����P� ���� �
������&�++0����P�
�"��!50�&�*���� �*��
�����5����Q���7�*�����"�� 
5�� (�$
�����+6	$1 +!����"��630��
� �� +5��� �3�+*��*�
��
� +
���"��!50(�$
�����( 
  �*�������*�"����-���"������-�	
$�
�$���% &� ' &���?�
����
���!�1*���"���&  
Q���������&�!������������ �3*!�1*��5&���"���&�B!5�* Q��� �
��6&"��!50�&�*���� �*��"����-���
"������-�	
$�$���% &� ' &�$0��%�0
�����	��)%&�
������!����$���7�*������  
 ���"����$�+��������7�*������ =	+���#�	�������$���% &� ' &�7$0����  �

���� ���
�� �����*��/

�+�������� ���������+���$���% &� ' &�( ����
���&����7� �����*�+���*��
� ��5P�(0 $�( ����$���% &� ' &��*������O�1��O$�!10!�����(0����
� ���$���% &� ' &�"��
!507$0���� � ��	$
����������� ��&	$��&	�  �����*�
��$���% &� ' &�!�O ���( ����������
� 
(�����(4��
	�, 2548)  
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 �&*��O$�����%&0� 6&��������������+����"#�v� The Resilience Model (Fraser, 
Kirby, & Smokowski, 2004; Kumpfer, 1999) �����+���*�� O$��+�*� �/

��������$0������ � 
%&�$0��+�

&�"*�����"��������"������#�	�������$���% &� ' &�( ������*�"�� �3*� ���++
��������!�1��1� ���4 "�+
&0  
��5��$�	
	��7$0 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


